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Name ______________________________

1.  You have just deposited some money into a savings account and plan to make thirty semiannual withdrawals beginning 4 months from today.  What sequence of calculations will allow you to determine how much you can withdraw each time (ex. PV of annuity then FV of lump sum)?

Use the following information to answer questions 2 through 5.

Five months from today, you intend to make the first of 10 quarterly deposits into a savings account that pays an interest rate of 9% per year compounded monthly.  Your first deposit will be $350 and subsequent deposits will grow by 2% each.  After your last deposit, you intend to simply let your balance earn interest until four years from today.  In order to determine how much is in your account four years from today, you intend to calculate the future value of a growing annuity then the future value of a single sum.

2.  What will you enter for “n” when you calculate the future value of the growing annuity?

3.  What will you enter for “r” when you calculate the future value of the growing annuity?

4.  What will you enter for “g” when you calculate the future value of the growing annuity?

5.  If you use the interest rate from #3 above, what will you enter for “t” in the time value of money equations or “N” in the financial calculator when you calculate the future value of the single sum?

The return on Ethics by Polling Inc. will depend on what happens to Clinton as follow:


Probability
Return on Ethics
Clinton Impeached
.25
-20%

Clinton Resigns
.10
-10%

Clinton finishes term
.65
30%

6.  What is the expected return on Ethics?

7.  What equation would you use to determine the variance of returns on Ethics?
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8.  Assume that the return on T-bills is 3.74%, that the standard deviation of returns on the market is 23%, that the market risk premium is 6.4%, that the standard deviation of return on Smash is 42%, and that the beta of Smash McGuire Inc. is 1.4.  If the market is in equilibrium, what can you expect to earn on on Smash stock?

Use the following information to answer questions 9 and 10.

Assume you own stock in Liar Inc. and Obstruction Corp.  (and these are your only two investments).  Despite selling off a division, Liar’s expected return and standard deviation of returns has not changed.  However, the correlation of returns between Liar and Obstruction has fallen.  

9.  Sketch a graph showing how the risk/return possibilities you can achieve by investing in these two risky assets has changed.   

10.  On the same graph, show how the risk/return possibilities you can achieve by investing in these two risky assets and by borrowing or lending at the risk-free rate of return has changed.

